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Reviews Questions

Part 1

Q1: What type of operating system is Windows as general? Describe two of its
major features

Q2: What are the main purposes of an operating system?

Q3: What are the main differences between operating systems for mainframe
computers and personal computers?

Q4: Why consider the (Random Access Memory RAM) is important for computer?
Q5: What is the difference between memory and storage in computer?

Q6: What is the difference between (Random Access Memory RAM) and Read
Only Memory (ROM)?

Q7: Define ALU, CU and CPU?

Q8: What is the difference between high level languages and low level languages?
Q9: What is the difference between programs and application programs?

Q10: What is the difference between 32 and 64 bit windows?

Q11: Compare between analogue and digital computer.

Q12: Numbering and explain the types of mouse.

Q13:What is the difference between the optical mouse and laser mouse?

Q14: Listing table of difference between monitors.

26



ALl Aunigl) audlanls (gala Hus o
Part 2

Q:
Select only one from each of the following question:

1- The second generation computer used
a) complete integral circuit ~ b) vacuum tube  ¢) vacuum tube and transistor  d) transistor

2- Third generation computers

a)Were the first to use built-in error detecting device b)Used transistors instead of vaccum
tubes

c)Were the first to use neural network d)None of the above

. - 58 . S
3- The super computer is more efficiency and capable computer since it contains less and
smallest microprocessor
a) true b) false

4- The mainframe computer is more consumable of electric current compared to super computer
a) false b) true

5-Minicomputer needs ten people for operating it
a) false b) true

6-Analogue computer is operating on
a) wave base  b) binary number  c¢) both wave and decimal number d) all of them

7- Digital computer is less efficiency compared to hybrid computer
a) false b) true

8- Hybrid computer have more elasticity and efficiency for experimental application in
engineering and medicine.

a) false b) true

9- Special purpose computers are better in performance because

a) they have more memory b) a set of instructions is built into the machine
c) they are equipped with faster processor d) none of abov

10- ....... use continuous physical phenomena to model the problem being solved

a) Analog computers  b) Digital computers c) Hybrid computers d) None of above
11-A system setup offers a cost effective method of performing complex simulations
a) Analog computer  b) Digital computer c) Hybrid computer  d) None of above

12- Very expensive computers that are employed for specialized applications that require
immense amounts of mathematical calculations
a) super computers  b) mainframe computers  ¢) mini computers  d) hybrid computers

13- Mainframes are more powerful than supercomputers because

a) they support more simultaneous programs. b) they can execute a single program faster
c) they consume less electricity to perform more tasks. d) all of above
14-Desktops, Laptops & Palmtops are the example of ---------- computers

27



ALl Aunigl) audlanls (gala Hus o
a) Super computers b)) Mainframe computers  ¢)Mini computers d) Micro computers

15-Advantage of analog computers over digital computers is?

a) speed b) accuracy c) versatility d) all of above
o) 3
16-Which of the following class of computers can not support multiple users simultaneously?
a) Mainframe Computer b) Minicomputers  ¢) Microcomputers d) all of them can
support
17-Which company is the biggest player in the microprocessor industry?
a) Motorola b) IBM c) Intel d) AMD
18-Which type of display is the latest to be used for portable computer?
a) LED display b) LCD display ¢) Plasma display d) Electroluminescent display
19-The basic components of a modern digital computer are:
a) input device b) output device c) central processor d) all of the above
20-Processors of all computers, whether micro, mini or mainframe must have
a) ALU b) Primary storage c) Control Unit d) all of the above
21- Which part of the (CPU) perform calculation and makes decisions
a) Arithmetic Logic Unit b) Alternating Logic Unit
c) Alternate Local Unit d) American Logic Unit
22-A light sensitive device that converts drawing, printed text or other images into digital form is
a) Keyboard b) Plotter c) Scanner d) light pen
23-Dot-matrix, deskjet, Inkjet and laser are all types of which computer peripherals?
a) Printers b) Software c¢) Monitors d) Keyboards
e
24- The plasma type of displays ----------------- gas is used.
a) ionized . b) oxygen. c) carbon dioxide. d) all the above.

3l

25-What type of device is a computer printer?
a) input. b) output. c) software. d) storage.

26- A 64-bit word consists of--------------
a) 4 bytes b) 8 bytes c) 10 bytes d) 12 bytes

27-Select the statement that best describes Read-Only Memory (ROM).

a) nonvolatile, used to store information that changes during system operation.

b) nonvolatile, used to store information that does not change during system operation.
c) volatile, used to store information that changes during system operation.

d) volatile, used to store information that does not change during system operation.

28-Memory is a/an
a) device to collect data from other computer. b) block of data to keep data separately.
¢) indispensable part of computer d) device to connect through all over the world.

29- The difference between memory and storage is that the memory is------- and storage is------
a) temporary, permanent b) permanent, temporary c) slow, fast d) none of the above
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30- Actual equipment of computer system that can be touched is:
a) hardware b) software c) applications d) bug

31- These types of computers are primarily involved in data processing and problem solving for
specific programs.
a) Compact Computers b) Digital computers  ¢) Hybrid Computers  d) Analog Computers

32- A desktop Computer is also known asa ..............
a) Note Book b) PC c) Laptop d) Mainframe

33-A personal computer is
a) MC b) SC c) YC d) PC

34-Personal computers use a number of chips mounted on a main circuit board. What is the
common name for such boards?

a) Daughter board b) Motherboard c) Father board d) Breadboard
35- A ............ Is a microprocessor -based computing device.

a) personal computer b) mainframe c) workstation d) server

36- i computer is a medium sized computer

a) Micro b) Mainframe c) Super d) Mini

37- i computer are of large size

a) Micro b) Mainframe c) Super d) Mini

38- A program that is employed in the development, repair or enhancement of other programs is
known as
a) System software b) Software tool c) Applications program d) Utility program

39-Which is true for the digital computer?

a) It is less accurate than the analog computer

b) It represents the decimal numbers through a string of binary digits
c) It is used primarily in scientific applications

d) Both (a) and (c)

40- A computer with CPU speed around 100 million instructions per second & with the word
length of around 64 bits is known as
a) Super computer b) Mini computer ¢) Micro computer d) Micro computer

41-First generation computers are characterized by
a) Vaccum tubes and magnetic drum b) Minicomputers
c) Magnetic tape and transistors d) All of the above

42-an analog computer

a) Input is first converted to digital form b) Input is never converted to digital form
c¢) Output is displayed in digital form d) All of the above
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43-All modern computer operate on

a) Information b) Word c¢) Data d) Floppies

44-A hybrid computer

a) Resembles analog computer b) Resembles both a digital and analog computer
c) Resembles digital computer d) None of the above

45-Central Processing Unit is combination of
a) Control and storage b) Control and output unit
¢) Arithmetic logic and input unit d) Arithmetic logic and control unit

46-The device primarily used to provide hardcopy is the

a) CRT b) Computer Console c) Printer d) Card Reader

47-Which one is not an input device?

a) Keyboard b) Mouse ) Speaker d) Scanner

48-What are the two types of monitors?

a) CRT and DVD b) CRT and LCD c) DVD and VCD d) LCD and
DVD

49-Which output device is used for translating information from a computer into pictorial form
on paper.

a) Mouse b) Plotter ¢) Touch panel d) Card punch
50- The most common input devices include .............

a) Monitor and keyboard b) Monitor and mouse

¢) Mouse and keyboard d) Printer and mouse

51- Which memory device is generally made of semi-conductors ?
a) RAM b) Hard-disk c) Floppy disk d) Cd disk

52-What is the meaning of RAM, and what is its primary role?

A) Readily Available Memory; it is the first level of memory used by the computer in all of its
operations.

B) Random Access Memory; it is memory that can be reached by any sub- system within a
computer, and at any time.

C) Random Access Memory; it is the memory used for short-term temporary data storage within
the computer.

D) Resettable Automatic Memory; it is memory that can be used and then automatically reset, or
cleared, after being read from or written to.

53 Computer programming language which is based on problems and its solution is termed as
a) advanced level programming language b) ordinary programming language
c) high level programming language d) low level programming language

54- Computer mouse event is
a) left click b) right click c) double click  d) all of these
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55- Windows is most popular product of
a) sun system b) Microsoft c) Hewlett d) ANSI

56-Computer operating system is basically a
a) system utility b) application software C) system software d) package software

57- All files which are deleted from computer are stored in
a) sys-tray b) temporary files c) recycle bin d) my documents

58-Ability of an operating system to control activities of multiple programs at same time is
called
a) multitasking b) multi processing ¢) multi operating d) multi paging

59-The term ‘Computer’ is derived from..........
a. Latin b. German c. French d. Arabic

60-Who is the father of computer?
A: Charles Newman B: Charles Babbage  C: Henry Babbage D: Henry luc

61- Which generation of computer used CD ROM for the first time?

A: First Generation B: Second Generation C: Third Generation D: Fourth Generation
E: Fifth Generation
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e ualadd) kil Al & dal) .
r . - - ) aUadl)
Hexadecimal Octal Binary Decimal i
p&)yl Jie
2 ;
16 8 2 10 (Base o)
0—15
B=11 4 4 g<all al8 Y
=12 e Bt L 0 — Base-1
D=3
E= 14
F=15

Bl Al e g aUaill 45 Sall e ]l dae ga 7 allail) bl

Bio=10 il -1
Bz =2 L}"hﬂ‘ (;Ué.ﬂ\ -2
Bg =8 Lf’um f‘w‘ _3
| & ol AUaill — U g (e g gl
ine = (il (poall AL o 42 3 (dp * Base®) : JIS 2l ifunad o
A el 3 g gl 280 idy ¢ AN 555 Gl A : BaseP ¢ § sana Y

Examples:
(1254)g =5*8°+2*8'+1*8%+4*81 = (85.5)y
(A15.C)1s =5*16°+ 1 * 16" + 10 * 16° + 12 * 16" =(2581.75)10
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Claland) sl 50 a 585 g AV el 8 addiall aUill ga 45) Capa D aUsill 40aaY | juca
C il daa & dyluall

Binary Addition : (Uil alaill 8 aeal) 1

S (Ae) 0 e 0sS 3 JS gpaxe O B A (A S LB (S pes Adee T )

oaa e alaieYly olial 8 il Y LGNY] ()5S dleal) 03] Y LaiaY) 4618 Lda 515 .aal;

chall e 220 (Y A pes dglee (ol 245 (S Y LaaY|

0+0=0
0+1=1
1+0=1

1+1=0 —> Jasa (Carry)

1 (1011.01); , (11010.1); cposal) pal - 2 Jlg

11010.10
01011.01 +
100101.11

(1110.11);, (11011.101); pasall pas b Lo 1 lsg

11011.101
01110.110 +
101010.011

Joas]l «— 1=1+1+1 @ACA\A:%&
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Binary Subtraction : JUill 2Bl &~k 2.7,

;<Y Laia) c.a_j s ol pae gm oy Alee ) VL) 9S8, aaal) dlee 8 LS

PAine WSy
0-0=0
0-1=1—> 1 sll(Borrow)
1-0=1
1-1=0

1101.1
1011.0 -
0010.1
Example: Determine the values of (1010) — (0111), (110) —(010)
110 1010
010 0111
100 0011
slaxall JacYl aeal :2.19d\3A<;
(i) (ii)
v v ¥ v ¥V
1 1 1 1 11
(100 1); 0 110 1);
+ +
(101 1) (1011 0);
(1 01 0 0); (10 001 1);

. (1000.01); 23+l (30 (110.1)7 22all #5kal [ Grayesi
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Binary Multiplication : AUl aUail) & cpall 3.7.1
D od Sl Uil & O peal) Adee Y Lia) o)
0=0

PPk OO
X X X X

1=20
0=0
1=1

 (1010);, (101); covaall comm il a2l

1010
101 x
1010
0000
1010
110010
Binary Division  : AUl alail) & dacdl)
D ob Al Al 8 el ddee iYLl o)

=2
=0
=2

0=+0
0+1
1+0
1+1

=1
(100)2 23l (1e(11000), 23a)) dand il 2l 2 Jlig

110
100| 11000
100
0100
_100
0000
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e g el dlaill 320 & (10100) 5 22)) aud) (il Al 3 daal) e JUa g
)l Alaill 3 day )i (100)2 222

101
100 | 10100
100
0010
000
100
100
0000

(100), 232l Je(11000); axel) dans 730 angl 1l

110
10 11000
100}
0100
_100
00000
00000
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g}iﬂ\ @LB.'J\ uﬁ\ QAU:\M @LB.'J\ e Jagad
oJPi.A)eﬂ)S\LJJALfJLMDJﬂAGJSJAeM\o..‘n:\ﬁ.am‘)m.ajgjhﬂ\JM\UA?SJJSAAL
Gl (5 piall aall e Juanid ozl sill aani s (5mS £ S 13 alladl (W30

Examples: Convert the following numbers from binary to decimal
numbers: (1011), (0.1011), (101.10),

Solution:

(0.1011), = 1*21+0*2%+1*2°+1*2* = (0.6875);,

(101.10), =1 *2% 0* 21 + 1 * 2%+ 1 * 21+ 0*2?
=1+4+05= (55

uaUﬂ\ @LB.'A\ L,S\ g)‘«w\ @LB.'A\ QA KK d.a“gai

) e gl dand ) K59 il 2aal) e (g pliall 2aml) s adal) (e rasall ¢ adl o sail
o 3 ANV A pal) g o) ) Cpadl (g (sl (gt e sl L3 50 IS B (dAl
Y el Al

il Alalall e AU A ) | 8 dxcad g o(gaard) AUaill s ol paaaia) @ pal)
! Oan & & PRI 3 (pedia

A Ll Lo iy s (sl 9l (e LA 65l e Al S35 ¢G5l el saall
Al e caalic dae gl 1 il 4l ALl e

Examples: Convert the following numbers from decimal to binary
system: (14)10, (87)10, (0.3125)¢
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14+2=7 0

7 +2=3 |
3 +2=1 |
1 +2=0 l—l

(MSBy™ "1 11

(87)10 - (10101 | 1)2

0.3125 x 2=0.625

$—l

0.625 ><2—125

025 x2=05

05 x 2=1.00
e o ) Bl S i
of Ly Badl B e caghlall
Ermdaall 3l Gl 1] B

0" (LSB) 1

87+2=43
43 +2=11
21 <=3
10+-2=5
3 =2=12
4 +2451
+2=0

Jalsnt|

0

1

4]

(LSB)1 0 1 0 (MSB)
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Tutorial sheet No.2

Q1: Evaluation of

(11110110.11),

a
) (12765.6)g
(1064.3)s (78901) 10
(A67F7.D)16  (10110011.101),
c) (101010101.11010111), + (757102)4 + (AB14FE),

Q2: The conversion of (10110K0Z.1), to decimal number given (362.5)10, While
the conversion of number (K6207)s to decimal number given (7303), . Determine

the values of constants K and Z.

Q3: The evaluation of quantity

(F79BC22. M),
(66340271),

Given (18.19),, . Determine the values of constant M.

Q5: The evaluation of addition (1011K1.Z101), + (6K3Z.415)g is equal to
(3227.8379)19, While the conversion of (FKCBA);s to decimal number given
(986298)14 . Determine the values of constant K and Z.

Q6: Determine edition each of the following numbers:

a) (1011.01),, (11010.1),
b) (1110.11),, (11011.101),
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Q7: Determine subtraction of each of the following numbers:

a) (1101.1), - (1011),
b) (1000.01), - (110.1),

Q8: Determine the values of (1001) + (11), (10) x(101)

Q9: Find equivalent decimal numbers for each of the followings:

a) (11010.11),  b) (127.4)s C) (B65F)6

Q10: Converts to binary systems?

a) (8023)10 b) (217)10 c) (13.125)4

Q11: Converting these numbers from binary to decimal:
. 10

o 111

. 10101

o 11110

Q12: Why is a binary code suitable for use in the computer?
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Flow Chart (b Jahial)

o Lo Clleall jau Jail A Caiuat (S

(Simple sequential Flowchart) ol aolall Ll & -1
(Branched Flowchart) g il kil A -2

(Loop Flowchart) sl o) ysall kil )2 -3

(Nested) Adalxiall Sl ) sall kil & -4
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Mo Yes

Eventa

Evenit b FEvent a

da ) ) sA0) 45U 44y yha
Aplaall COAL yast jnput Jasy) -1

mathematical relations and equations 4xbuall C¥aleal) 4,US -2
print (Aeldall) Sl jaall aaas 3
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Example 1 : write algorithm to calculate the area of rectangle have length L and

width W, then draw the flow chart.

Solution:
L, W
2- Input L and w
3- Calculate A=W * L A=L*W

4- Print A

Example 2 : write algorithm and draw flow chart to read 3 number and print their

average?

Solution

1- Start

2- Input A, B,C
3- Calculate AV = (A+B+C)/3 AV= (A+B+C)/3
4- Print AV

End

45



ALl duigl) audlanls gala a0
Example 3 : write algorithm and draw flow chart to find F(x) from the following
function

_ x ifx=>0
fo= (51520
Solution:

1- Start
2- Input x

3- If x larger or equal 0 then goto 5
4- Calculate f(x) = - x goto 6

5- Calculate f(x) = x

6- Print x, f(x)

7- End

10585 7-12 JSeidl (08 @il J2l wlghs losic (susi U (if) @olS v

j START %.
; x /

,,/
No < X==0 > Yes
S
F(X)=-X - F(X)=X
)

¥ & F(X)
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Example : write algorithm and draw flow charts to determine Y = f(x) from the

following function:

Y=(x-2)/X

Solution

Start

Input x
If x=0 write error goto 2

Calculate Y= (x-2)/x

Print Y

End

I—NO

w={x-2)/X

End

47
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(Counter ) 3l

aae a3 G D 3y 5 28 Counting 2 ) (s S sl gl g (B zlias Glal) e S
)58 e sl LY GleDl Ags Aleall 038 (5S35 885 Gl Cpena cilllall g O3l e JS
Counting =l 4w lsa maai ) zlsy sl o ) dlsihll o Loty ) dal)
Colal) Lgaiy A <l ghadd) aaat (Say g, 0 Of g Uil Lgtini) 13) L &l shad (e Algorithm
Ala) ol e Sal s
ieall U glase slal) Jzal 1
(0 sl a5 200 ) Led dagadll dagdll (5 sl dlanll 5ajaald) dagdll Jza) 2

1+ (Aazadll) dlaall dad = (32a)) daal) dad
2 5 shall e elai) il ghall 5 S3

Example: write algorithm and draw flow charts to print the number from 1 to 100
and its squares.

Solution
1- Start I\ START )
2- Letl=0 I
3 =141 LetI=0
4- Calculate J = I? —"
5 Print 1, J Let1=141
6- If 1>=100goto 8 !
7- Goto 3 Let 1=
8- End

N
{/ Prit  /
Ly J

o
™
A T

o ™
e N
& M
Mg 7 =100 ™~
4 >
\t

o
e
P

",
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Tutoral sheet No0.3

Q1: Write an algorithm that prints the rectangle size given width and length.
Q2: Write an algorithm that prints the area of a square given width and length.
Q3: Write an algorithm that reads 3 numbers and prints their average.

Q4: Write an algorithm that reads and prints the sum of 2 numbers

Q5: Write an algorithm and draw flow char to calculate the area of circles have
radius r?

Q6: write algorithm and draw flow charts to determine the value of Y from :

Y= x/(x-3)
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&l 11 Juatl
< AN

Internet < AY)

dallall 4S50 J=as International Network selS! jlaidl s

Joy 4 Aleaiall Gl pal) S el alle Ui CUSLAN GYY) acal 305 5
U8 g g g aladinly Gaed) Leany JiaiV ¢l g cila glaall o gudall UK 5 Cad gal
SN e . S g 5

Al Jon i saaaSh 8 el o el oy 3 405 e 3 ke sa

« Information Highway » gl e sleall Jady (canidl sie (o jai Lol

Internet History

i yBY) )l e e

LSy 5a¥) gl 55 55 I (e cliiad) il 5l o e i) A8 Jl i
ARPANET ol ciles Lgia dausi Jf

D Opand () S Y1 4SS Gl 1983 ple

ARPANET 4wl cilasSl caariind -1
MILNET %Seeall cilasSl caaraind -2

8 3¢a) Lued JMA (e sasiiall LY Sl elasl AS Jd cpfialill Jia 5231986 ale -3

National Science Foundation Network

1985 ale Lilee i i) aladial fay
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"Networking "' <\<udd)

ol Jal (e panil) Lgwmany Abaiall (5 AV 53621 5 i gna 11 3 jeal (e de sana b
36y Oadlay ey SV e 0 e (e T gd lgana 8 daliae AS0EN e sladl)
-1 oA laa g D gl e Dl ) i Sl (e 4S5 ]

:sending unit Jw Y sas g, )
:receiving unit Juaiwy) sas g, Y

-transmission media Jb=i¥l lawy, ¥

clsadd) ) gil

(e Gl jaeadll (e de sane ki AS0d oA

aai 485 a5 -1 ( LAN )™ Local Area Networking ' dalaall 4<uill - Y gl
o A 5) Hubs (e jsdls ) PCs (<) s o8I Slia &l pgadll (g0 Ao sana
(Bl shsae gl (e g0 L b s Al jas dalis

s Gl agadl e de gaaa a5 " - wide area network ' Al sl ASual) Ll
saa) 5 4l jaa Aalie ard il 5 el Lpnn pe dleaiall ) LAN ) 5 _pieall cilS0a)
JalS Al o) daa Jia

ALl QLA (e aaall 352 5 e Lok - Internetworks™ Adalxiall KA - Gl

CUSuEN Lay ) e iny mmy Lasen pedan i Jal gy Gl) S ANy (i) 2l SO
Ala )il Al Ciaaiu) G W e s Al Il ddal
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i) J&5 oY oS 59

leale 2 g gall Uil aldas o laill iy 5 i i) ASpd Al g gall o guilal) 3 gl
. Protocol sl s ye alhany gl dials daly (andl) Leiany pe lalass

33eaY) ae callaill A8l e caulal) Gaasiing AU &l 5 adl OS5l oy
LAY

a)@A\ by Juatyl ﬁja.\.d Lok Glisa g 3 il Y Sgig C.A\JJ 8y
A e Glualall

J ddliaal) Culall 3 ey mib Aleal  Laidl o (FTP ) clilal Jis J S5 0 o)
Y e Lein Lapd Clalll

OeoAd aald 3 jgal panadd Ciligll s Cilaalall s IS AN e I aad o 2l (e
Ccalalall

Data Transfer Protocols obilodl Ja oY gSeigm M

e Ologlaall J& b (St Lraghsy Lgale Gite delsdy alai e 3lie @bl a5 &Y S5,
saxty ASLEN LB sllaa¥ e Jeladll dua Sy JESY p2se e obludl Jluy] duaSy asiadl
tieriiadl @Y Syl #1657 crag cpandl Lgian ae 33ga V1 Jladl a8 @V Soig !
pdtiin JsSs39m ea :Transmission Control Protocol/Internet Protocol (TCP/IP) JsSsigym = )

oVl oudsSetg e sSi Lilady o5 ) aBse e cbibedl Jlay¥ ed,m¥l LB
.Internet Protocol 5Ll Transmission Control Protocol (TCP)

I alaldl Jalse Jan JsSs8,d) 1 iy :File Transfer Protocol (FTP) JsSgigm — ¥
bl 130 TCP/IP JsS6i 0 anieiwg i yuY|

Remote s e alewl=dl i (i :Telnet Communication Protocol (TCP) JsSsigpm — ¥
.Server astell jleatl ailiwl=dl dayyg Login

LAl abln Jlayl e Jetwe JsSsig ) 1aa :Wireless Application Protocol (WAP) ol — ¢
s alaziul wlldy Loy (Headl) bl 3yealy ASW alsedl fio Alame 3jgai
vl calxang g SOV Ble Jl bLAY sl Jeddy (alladl aslggl!

daadla
»=aidy "Hypertext Transfer Protocol™dwaddl) gagaill J&5 JeSgigpn
"http " el s e gl sie o) Ay o) 2 AN (HTTP) shhttp
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Transmission Control Protocol -G

World Wide Web

"W " o sbemia) s Apallal) A 5 Sinl) AS03 i gl | palladl A 5iSindl A e
shivgy | Y B dard lpany dadijall S aill Glatiae (e pUas 4
s2a G J GHll aodaiin WS Gy 7 Caala aladinly Glatiid) o3 7 caal aadiull
Jpa, G agal e dlaiiia) sda g ady . S paill EBhay e dlsdiall
oyl yiall a gaaaill JA Dttp JsS 555l aadiad Al 5 3oz Jail g

‘Jik m
http:// www.Microsoft.com/custom/index.html
Clalasl Al ie faaia dadall g cala)
' & o pbia b g jal) Glgadl and gl 31 jal
iy
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= S
Internet Browsers
| O

A Y Alsdsia e 30 g gall Chla glall
Cladaia) gl Gay m
Netscape Navigator .
Google Chroom ¥
Internet Explorer .v

Fire Fox Mozilla .t

s AN ASud clallas ?“M

A gall Anallall 4G ey « World Wide Web » 4 Jbaidl - WWW .
ool e o (Java) s (HTML ) 4 aladinly daacas 5 4 5iSa Clladia (ga ()5S 5
i Y miiata (33 yha e leadial 2 g cu sl Dladia aveal Gl

< Y a8l ga riiaty (aidall iyl 54 : (Internet Explorer ) < yiiY) méiaia
Ll sina e

LU Leihanl g o3y Al A3 : (Hyper Text Markup Language ) HTML .
CA.;A:LAS\GJLDJAM\ L_L\jj\ QL&S&AM}

A8 3l a5 < 5l dead 5 3 s (Internet Service Provider ) ISP o
iYL da 1 e J geanll Ll @l 58V o 565

dadall a5 lSe e y85e 0 (Uniform Resource Locator ) URL e
sl A8l e ol sall (e Al g i gl )

s8N a5 - (Electronic Mail ) E-Mail e

Gl My 0w )l J& JS g5 0 0 ( File Transfer Protocol ) FTP e
Rutt iy
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s ¢ el Jall JS5i5 5 0 ((Hyper Text Transfer Protocol ) Hitp .
o) &8l ga Al JEO A a8 e 83 ga g0 Sl ) e bl (e padiual) (84S
Al e oAl claia
ulal) Sl e Jsaall dlee sl el ol o ((Firewall ) g Jladl o
AV 3 el J8 e A8l Jeaidl)
V) ASE ) sl Slea e cililall xd ) o Jiididee :Upload e
sl lea ) Y ASE e cldlal) Juesd dolee : Download e
=55 (Decryption ) LewsSe 5 clalal) alead dlun g 2 5 il : Encryption .
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Lo S Sra g calaldl) Chlial (yamy SO 4

Bl A Len sisgy Al QUL & o8 Calal) alial

_s=BMP

U= JPEG SUPG

Gila s )GIF

) &)L clalSl Adlina slaad Vs Ol sl an g0 V) Gati 61 050 (0 sl TXT

word Processing 2,55 gl ol s Leilas oy Al Cliladl Aala (4 5 4ie 42 5aiDOC
Program

Machine Languagedly) 4l ) as 55 daa il Gl (gaals a8li€ Caad (52085 i 2EXE
(batch file )ulall Jiads cay i 2% Cilaglad CalBAT

2039 gebin A 4l LRTF

Jpdil) pUasy als CaleSYS

flalle | LaS aw g¥1 g g Windows addi ¢ Jaa o3 La\ (u

Eans¥) 3gs 280 5ill Al o 130l \
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Q1: A 32/64 bit preemptive multitasking operating system supporting multiple
users. (1) The ability automatically to repair application and operating system
problems. (2) Better networking and device experience (including digital
photography and video).

Q2 i aladlos s

1 Q3

Jors olai ) zlias - Mainfram Sl cliuladd Cudall slasl DAl dadal) ahs alea aliss
il g lagldallS 4y Zaalall cilas gl s candall Gilas s e aell g Jalaill (e LS 5L Alle
ot (A clall Gueadiuadl e el Joadil) AplSa) b 58 (e LeiSai LS A phall lleall 5 o 530
g Bale i el G et 0 65 Qi) las & Personal duaddll cilaulall Ll cd gl
IEENPPREGNOILEN PRETREN

e sleall ey a5 Ay Cualall A 1 5 SIAN LY o sulall aga 5 SIAN 028 2235 1 Q4
glaiil 5l Slgadl Qo Caliy) 3 jaay e sheal) iy dle Jaad) ol 51 Canlald) (i oL 48 gl
Sl Ll

& S el Al B ) 5uds e s Aaailagl aine 0S5 o) el SN ol 3Ll Q5
13) Leelajind (Say 5 bl 5 5a0 andted | daalall e (34 oline miall Lol Zuulall
il Gl e Ll sine 285 Y Slaa g 4 5 adiiall il

The term memory refers to the amount of RAM installed in the computer, whereas the term
storage refers to the capacity of the computer’s hard disk
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Q6

5_SIAN & gl

|
4 gliall 3 SIA
RAM
dasd 3¢) yall 3 <13 g ) sl Jgea gl 3 SIS g

alay) e gl gine 2083 Y 2 Cala) 3 yaas Leily siae 2adi )
Sl s Sl s
S AnlaY) bl Ladiag 3 b sall Laldia D aadiud 3
Jofil) el Sleadl Lealiag e Jaall oLl bl
Jia syl ALE al) YR P (IR S B8 (I
5 JRaY) Glas § Gl slas)

Q9 el il (3

il i e ol ders asiy (Y Caalall 4a 88 1 el Y1 (e de sane sa el
s cladil) (e A gane 4l o mali il 8 Sl Lagl oSy <l 5l A1) 5 e
Gl AU aaditial o gy o b sl Ay i Gl agdy VAl 5 el Lpagdy daly casS
Gladadll 0t Cualaldl | sty Caalall e}'é.:“ u\dﬁ@hﬂ\ eUé.\ﬂ\ LFM o C.,.\SM\ iadl

ler_'é.l\.cew\%@gﬁjwﬁu}u\cﬁj&uw\é@j

iy gl Aadall gl A5LED

Jaxd € 1)) asd) Jeall b aoiid LSl adlae Jie el a1 ikl
Gl s gally Jand S ¢l AabA) e gus )l liadal adding Cogas bl il su
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Jlee V1 (8 aladitaV) G 5 Lanlaall 5 Ao lidall el yo (585 Saes gall el s a2 (o gus

" il M " el g " Cilalhadl) aladiol Sy A gllaall (e V1 ST el g aa
e s ) guay

Q10:

) i gnall) allaa Loy ey ) A8l ) <u 645 <y 32 lallaadl july

& Windows (e < 64 laa) dalay Sl slaall (43S jall dadleal) 50a 5 Lagiafle

4y 32 alda (e 3US ST UK (RAM) (S sdiadl Jsaa sl 5 SI3 (e 5508 cliaS
Bit32 (e et B85 uS) JSy Sl 5 e e Bit64

o ullan 4 e S5 SI3 ana ae Jalaill adaion () Bit32 5 st Jany alai
alalS il 4 sl A aodaton 3

Lomns WBMe 5 5 5381 Cilaen ol il g imns 83 + g

S all Glas g dsay e 2 YA Lgijat s ULl dallee ulall il g e
Alad (e il O 5SS cpyte™! Culs (et Bas 5 i jadl 13gd andiun 5 45 jall Sl
CDit™ W jia s "Dits" iy e aludl

s 57 jacs sl AN Cilalise (bl sas g7 i o

axx bl Baay jhal a5 w8 = b 1 dus A Glabia Baag  Cull e
cdall 8 e laal

FonSl sl (e il LSS L Lt Bytes bl des (el (e ST s 5 @llia

. b 1024 s sbews kilobyte () b Slie

Ll LS 1024 (s sbn 430 T s 1048576 = 1024 x 1024 s shas (Megabyte)cubiasall o

Culilage 1024 ) <l 1073741824= 1024 x 1024 x1024 & sl s (gigabyte) cublaall o

. Cublaas 1024 s sbes (TB) aidd s (terabyte) <ubl il o

(ZB) <l (EB) <wblsYls (PB)ewbbindl @ syl e oay 50 Slasy i
il (Jeoca 5l 8 g Al Bas ol uld (e 1024 (55l Leie 3aa) 5 S5 ¢ (YB) culibisll s

61



ALl Aunigl) audlanls (gala Hus o

Slal) o Janll daga 4l geint) 5 I3 a3 1 3lals

el Qo o8 438 gall il glaall Cilaginly o s )5 Canladl A N 5 SIAN LY
(eSSl o Uil g Slead) Jards Calay 5 ey il glaall S5 dle Jaall oL

Al Al BaLovall gal ) 5 ekl a5 s (380 La 2
Asudd 3l GJL calaldl ac L L,.,s;m G.A\‘)..\S\ L - Jaa 2l ?LJC'A\J" _l:G

ol Aadail st ) 5255 A gl pall o sl AalasY saclusall gl all -1
O a8 285 Caladl dpalal) Sl oSall g Juanlitl) alas (g Jas sl yiiad
el Al 5 At el
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Tutorial sheets no.2

Solution:
Q1.
11— (Ceny) 11111
11010.10 11011.101
01011.01 + 01110.110 +
100101 .11 101010.011
Q2: Q3
0 11
11| 1007
14101 .1 1
1 01 1.0 - 11
11
00 1 0 .1 ao

Q4.

(1101011),=1x2 +1x2 +0x2 +1x2 +0x2 +1x2 +1

2 1 0 -1
(127.4),=1x8 +2x8 +7x8 +4x8 =(87.5),
3 2 1 0
(B65F),, =11x16 +6x16 +5x16 +15x 16 = (46,687),,

10

x2° =(26.75),,

Q5:
Aadll b Al 8L
13+2=206 1 0.125 x 2= 0.25
6 +2=3 0.25 x2= 0.5
3+2=1 4—1 0.5 x24 1.0
1;2: O 11 v v r
(1 10 1), (0.0 0 1),
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(1101.001); = el Jysadll il

Q6:

10=(1*2"1) + (0*270) = 2+0 = 2

111 = (1*272) + (1*2°1) + (1*270) = 4+2+1=7

10101= (1*274) + (0*%273) + (1*272) + (0*2~1) + (1*27°0)=16+0+4+0+1=21
11110= (1*274) + (1*%273) + (1*272) + (1*2~1) + (0*2°0)=16+8+4+2+0=30

Q7: The computer is a electromechanical device. Basically it is an electronic
device. So it understands only on and off. This on and off we represent as 1's and
0's, which are used in...So it is very much necessary to code the computer in
binary.
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Tutorial sheet No.3

1
0 Q2.
Start )
Read (L, W) Algorithm:
Area=L"W
Print (Area) Start
End Read (M)
Area = M*M
Print (Area)
End
Q3:
Solutionl:
Start
Read (A, B, C)
Avg = (A+B+C)/ 3
Print (Avg)
End
Q4.
Solutionl:
Start
Read (A, B)
Sum = A+B
Print (Sum)
End
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dadl
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Example 4 : Draw the flowchart to find the sum of oddnumbers from 1 .... 100

(  START )

@ "
y

Sum = Sum +N
N=N+2

NO Yes
Write Sum
<« — —_

Cai)

-
-
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Example 3 : Draw the flowchart to find the sum of numbers from 1 .... 100

Sum = Sum +N
N=N-+1

NO Yes
Write Sum
<« — e

-
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Adlida e 5 e JANY 8Bl hbdlall g dujayll dsa) ) il IS 1O O pad
¢ & sanall g i giall sl
: )

T g el Aa )l Al

i=0 , S =0, x (18)Jaa : cdA

(S=S#x) gseaall;(i=i+l) olaall dalaall
"x Jaal i " MNie <10 oS

AN

1

Cualym=5/10: " iJaaY) e g Naie j >=10 Nl

(m) Dasid) | (s) g sendd A - o A

.\

* .&'m\ Jalad ol

S=Ts+Xx

Y e s i=i+1

No

m=s/10

m,sS

End )

/\
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13 dslih g aa ga (x) o 3 JA Al bhiallg 4ja )l dsa ) dd) S 28 o iﬁu
©Lag; ol Lag O

:
D Agagl dsag )l il

Y () BEE RS RN

Q8 (x mode 2=0) s ssbw2 o osnlliad L GEIY tala hall g dallea) 2

"not odd s Gas) 2l " ik
SR
" odd 5 Lo v [
: A8l Jaladal)

No (xmode2)=0 Ye
"
> )=
End
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Aoy 88l Jahadlal) g 43 ja ) g AsadlS) dua ) gdd) S Galad) JUial) aad o :25'2 —
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e
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End

72



ALl Aunigl) audlanls (gala Hus o

1- These types of computers are primarily involved in data processing and problem solving for
specific programs.
a) Compact Computers  b) Digital computers c¢) Hybrid Computers  d) Analog Computers

2- A desktop Computer is also known asa ..............
a) Note Book b) PC c) Laptop d) Mainframe

3-A personal computer is
a) MC b) SC c) YC d) PC

4-Personal computers use a number of chips mounted on a main circuit board. What is the
common name for such boards?

a) Daughter board b) Motherboard c) Father board d) Breadboard
5-A............ Isamicroprocessor -based computing device.

a) personal computer b) mainframe c) workstation d) server

6- i, computer is a medium sized computer

a) Micro b) Mainframe c) Super d) Mini

T i, computer are of large size

a) Micro b) Mainframe c) Super d) Mini

8- A program that is employed in the development, repair or enhancement of other programs is
known as
a) System software b) Software tool c) Applications program d) Utility program

9-Which is true for the digital computer?

a) It is less accurate than the analog computer

b) It represents the decimal numbers through a string of binary digits
c) It is used primarily in scientific applications

d) Both (a) and (c)

10- A computer with CPU speed around 100 million instructions per second & with the word
length of around 64 bits is known as
a) Super computer b) Mini computer c¢) Micro computer d) Micro computer

11-First generation computers are characterised by
a) Vaccum tubes and magnetic drum b) Minicomputers
c) Magnetic tape and transistors d) All of the above

12-n analog computer
a) Input is first converted to digital form b) Input is never converted to digital form
c¢) Output is displayed in digital form d) All of the above

13-All modern computer operate on
a) Information b) Word c) Data d) Floppies
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14-A hybrid computer
a) Resembles analog computer b) Resembles both a digital and analog computer
¢) Resembles digital computer d) None of the above

15-Central Processing Unit is combination of
a) Control and storage b) Control and output unit
c) Arithmetic logic and input unit d) Arithmetic logic and control unit

16-The device primarily used to provide hardcopy is the

a) CRT b) Computer Console c) Printer d) Card Reader

17-Which one is not an input device?

a) Keyboard b) Mouse c) Speaker d) Scanner

18-What are the two types of monitors?

a) CRT and DVD b) CRT and LCD c) DVD and VCD d) LCD and DVD
19-Which output device is used for translating information from a computer into pictorial form
on paper.

a) Mouse b) Plotter ¢) Touch panel d) Card punch

20- The most common input devices include .............

a) Monitor and keyboard b) Monitor and mouse

c) Mouse and keyboard d) Printer and mouse

21- Which memory device is generally made of semi-conductors ?
a) RAM b) Hard-disk c) Floppy disk d) Cd disk
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